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November 2015 Brain Teaser Answer Sheet

Truckload Sudoku

Each of the 3x3 boxes has to contain one letter from the word
TRUCKLOAD within its squares. Each letter can appear only
once in a horizontal row, vertical column or 3x3 box.

There is only one correct solution.
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A TRUCKLOAD (TL) shipment is a shipment that contains a large amount
of freight that usually requires an entire trailer or container. Also known as
full truckload (FTL) or full container load (FCL), these differ from LTL
shipments as they are picked up from a single shipper and do not process
the freight through an origin and destination terminal; they are moved
directly to the destination(s). It is critical that a shipper knows the
difference between truckload and less than truckload options and which
will render the lesser freight charges.
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